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TlossicHUTEIbHASA 3alIUCKA

COOpHUK COAEPKUT KOHTPOJIbHBIE PAOOTHI MO AHTJIUUCKOMY S3BIKY IS
ctyneHToB YYKIKT 3aounoii dopmbr 00yuenus. KoHTposibHBIE pabOThI COCTOST
U3 TEeMaTUYECKUX TEKCTOB W TpaMMaTHYECKUX yIpakHeHH K HUM. OCHOBHOU
IIEIBI0 JAHHOTO COOpPHUKA SIBJISIETCS BBISIBJICHUE y O0yUYaIOIMUXCS YPOBHS 3HAHUN
JIEKCUYECKOr0 MaTepuaina, yMEHHUs! IPUMEHSTh €ro MPY BBIOJIHEHUH YIIPAXKHEHUM,
YMEHUE aHAIIM3UPOBATh, JI€JIaTh BBIBOJIbI, UCIOJIb3YSI TEMATHUYECKYIO JICKCUKY.

['pamMmaTiyecKkue ynpaXHEHUsS COCTOAT M3 Pa3UYHBIX BHUAOB 3aJaHUN:
MOJACTAHOBOYHBIEC YIIPAKHEHUS, OTBETHI HA BOIIPOCHI, BBISIBJIEHUE TPAMMATHYECKUX
SIBJIEHUN QHTJIMUCKOIO SI3bIKA C DJIEMEHTOM aHaiu3a. KaKXIpIi TeCT COCTOUT W3
HECKOJIbKMX BapUaHTOB, UMEIOIIUX Pa3JIMYHbIA YPOBEHb TPYIHOCTH, YTO B CBOIO
ouepeib M03BOJIAET JU(PEepEeHIIMPOBAHHO MOIXOIUTh K OLIEHKE.

JlaHHbIE KOHTPOJBHBIE PAOOTHI TMO3BOJSIOT BBIABISITH U KOPPEKTUPOBATH

YPOBCHBb YMCHI/Iﬁ Y 3HaHUM 06yqa}oumxcx I10 aHFHHfICKOMy SA3BIKY.



1 xypc. 1 Bapuant
1. IlepenumnTe U MMICHbMEHHO MEPeBEINTE TEKCT.
The last of the Broad Gauge

The gauge of the most railways in Great Britain is now 4 ft 8 1\2 inches, but
there was the time when the gauge was not the same on all the railways.

The famous English engineer Brunel suggested the 7 feet gauge. So that for
many years there were two principle gauges in England — 7 feet and 4 ft 8 inches,
the last one was suggested by G. Stephenson. The broad gauge was expensive and
was not satisfied.

And at last in the House of Commons the broad gauge was described as a
“national evil”. It was very difficult to change the gauge because of the engines,
carriages and wagons and for more than 30 years.

“The Battle of the Gauges” continued its better course. And only in 1892 the
railways were converted to the standard gauge.

2. IlepeBeauTe cjenymonue NPeaJoKEHUS M OIpeaeUTe BpeMeHHbIe
¢opmbl riarosos. [loguepkHuTe riaroJ-ckasyemoe.

a) The technical equipment of this railway is much better than the technical
equipment of that one.

b) The railroad engineers are improving protective device the locomotives.

c) The railroad transport was the best means of communication some years
ago.

d) Special signals will help engine men to drive trains without accidents.

e) The greatest increase in railway construction began in the 90 - s of the last
century.

3. IlepeBeaure mnpeNIOKeHHsl, 3aJaiiTe BONPOCHI K KaXKIOMY
npeaio:;KeHur0. Bropoe u Tperbe npeasioskeHus caesianre OTPULATEIbHBIMM.

a) We search for ways of peaceful international relations.

b) The students were testing new devices in the laboratory last evening.

¢) The construction of Moscow — Petersburg line began in 1843.

d) These students will take part in the conference.

4. OTBeThTE MUCHMEHHO HA BONPOCHI.

a) Is your family friendly?

b) What floor is your flat on?

¢) Who usually makes breakfast for you?

d) How do you get to the college?

e) What will you have at the end of the term?

f) What Houses does the British Parliament consist of?
g) What is the capital of the UK?



1 xypc. 2 BapuaHT
1. IlepennnunTe ¥ MMCHbMEHHO NepeBeIUTe TEKCT
Plastics

Plastic materials are not found in nature. They are organic substances made
synthetically by polymerization. The principal agent incorporated in a plastic is the
resin; it may be either natural or synthetic. Plastic is used in a variety of ways.
Their chemical properties make them more resistant to environments. Most plastics
are rather inert to the atmosphere and to salt, fresh and soil water.

Plastics in many cases are not flammable and burn very slowly. Much more
that metals plastics usually combine with other materials like wood, fibers or
paper. Plastics are good thermal and electric insulators. The advantages of the
plastic material include the combination of light weight with good strength. In road
and railway transport the use of plastic materials is becoming a common part of the
design.

2. IlepeBenure mpeniO:KeHHsI W OmpeneauTe BpeMeHHbIe (GOpPMBbI
rjaaroJjos. HOII‘-IepKHI/ITe rjiaroJj-cKa3yemoc.

a) Our scientists are solving many complex problems now.

b) The workers were repairing the track from 9 till 5 o’clock yesterday.

c) Electronic machines work according to a program.

d) We shall study a book about the mechanization of transportation.

e) There were few railways at the end of the 19" century in Russia.

3. IIncbMeHHO mepeBeauTE MPENI0KEeHNs, 3aJaiiTe BOMPOCHI K KAMKIOMY
npeaio:;KeHur0. Bropoe u Tperbe nmpeasiosKeHus caesianTe OTPULATEIbHBIMM.

a) Every year our railway transport carries nearly 4 billion tons of cargo.

b) Our extra-mural students will be testing a new device from 5 till 7 o’clock.

c) The designers made different improvement in the construction of the
locomotives.

d) The number of electrified lines is increasing all time.

4. ITucbMEeHHO 0TBEThTE HA BONPOCHI.

a) What relatives have you got?

b) Do you live far from the college?

c) Have you got a grant?

d) What department do you study at?

e) When was our college founded?

f) Is our Republic mountainous?

g) What is the official language in the UK?



1 xypc. 3 BapuaHt
1. IlepenuiuuTe U NMepeBeANTEe NUCHMEHHO TEKCT.

Railways conquer the world.

The railway was invented long ago. Its advantages were long debated. Its
efficiency was demonstrated in 1805, when a single horse drew a load of 55 tons
for six miles along a level without distress.

The early railroad pioneers understood the question of speed as very
significant. There was an upper limit to the speed which could be attained on land.
It was set up by horse and the world record for a horse pulling vehicle in 1806 was
20 miles per hour (mph). Later development with pneumatic-tyred wheels brought
this average speed up to 30 mph. The inventor of the “iron horse” was Stephenson
whose “Rocket” ran at a speed of 35 mph. that’s why we consider the 14™ of
October, 1829, the opening of a new era, the age of mechanical transport.

Nowadays the railways surround the Earth with many bonds. The railways
have opened new countries and connected them with the rest of the world. New
cities were founded and waste lands were populated.

2. OTBeTbTE HA CJIEAYIOIIHE BOMPOCHI:

a) When and how was the efficiency of the railroad demonstrated?
b) What did Stephenson invent?
C) What is the main meaning of railways?

d) What was a record speed for a horse pulling vehicle in 1806?

3.0npenenure BpeMsi M 3aJ10T CJACAYIOIIMX NMPEAJI0KeHUI, MOTUYEPKHUTE
rjaaroJj-ckazyemoe. [lepeBeaure npeasio:keHue.

a) Nowadays the railways surround the Earth with many bonds.
b) New cities were founded and waste lands were populated.
C) The inventor of the “iron horse” was Stephenson, whose “Rocket” ran

at speed of 30 mph.
d) The railways have opened new countries.

4. 3ajnaiiTe IATH TUINOB BONPOCOB K NPEIJI0KEHUIO:

The railways connect people and countries with each other nowadays.



1 xypc. 4 BapuanT
1. IHepenumuTe U NUCbMEHHO NMEPEBEIUTE TEKCT.
The operation of trains.

Railways are very important in our life. The railways are developing and
remain the vital arteries of national and international economic life.

All railroads are divided into divisions in order to simplify the problem of
running trains. A division may be of different length.

Each railway has two kinds of trains: regular trains and extra trains. A regular
train is a “scheduled” train, a train listed on the railroad timetable. Regular trains
have definite times for arrival and departure. All regular trains may be both freight
and passenger ones. Passenger trains are subdivided into fast expresses which have
long runs and make few stops and local trains which stop at all stations.

Freight trains are used for carrying goods. Some freight trains make few
stops during their runs and some freight trains stop at small stations to load and
unload freight.

“Extra” trains are not scheduled in the railroad timetable.

2. OTBeThTE NMCHLMEHHO HA CJIeAYIONIHE BOMPOCHI.

a) For what reason are railroads divided into divisions?
b) How many kinds are the trains?

¢) What can you say about freight trains?

d) Are “Extra” trains scheduled in the timetable?

3. IlepeBeaute npemnoxenue. IloguepkHuTe rJaroJ-ckasyemoe.
Omnpenenure BpeMs 4 3aJ10T.

a) Each railway has two kinds of trains.

b) Passenger trains are subdivided into fast expresses and local trains.
C) The railways developed our economy in past times.

d) Regular trains have become more frequent.

4.3agaiiTe NATH THUIIOB BONPOCOB K MPEAJI0KeHHIO.

Railways become more and more important in our life every day.



2 kypc. | Bapuant
1. IlepenummnTe U MMCbMEHHO NEePeBeNTE TEKCT.

On the other hand, the diesel locomotive is more expensive to build and
maintain than the electric of equal power since the diesel locomotive carries a
power plant on itself. In addition, the diesel engine is an air pollutant prime mover,
so the diesel locomotive is that the diesel engine runs on organic fuel the supplies
of which are not inexhaustible.

From the above-said it becomes evident the railway future lies in
electrification. The railway system will consist of electrified trunk lines and diesel
operated branch and secondary lines. As to the self-propelled diesel trains they
may be usefully employed on the suburban lines where the traffic is not
sufficiently dense and the operation of locomotive-drawn trains or electric,
multiple-unit trains cannot be repaid.

2. 3akoH4uTe NpeAaoxkeHus, Mcnosb3ys cji0Ba, JaHHbIE HUXKE.

a) Railway services in many countries of the world were badly ... during the
World War 11.

b) After the War many European countries continued to ... steam traction.

c) The ... from steam to diesel traction was made under very difficult
conditions.

d) In some European countries dieselization went side by side with ....

(change over, use, electrification, damaged)

3. IlepenummnTe npennoxeHusi, nepeseaure ux. [lloguepkuure rJaroJi-
cKa3yeMoe B Ka:KIOM NpeNJIOKeHUH U olpeeIuTe ero BpeMs U 3aJ10T.
IHogyepKkHUTE IJIAr0JI-cCKa3yemoe.

a) When the work had been completed the results were published in the
magazine.

b) A great deal of research work was done at the Railway Transport Institute.

c) When the testing was being made everybody was watching it with great
interest.

d) After the lecture had been delivered they asked many questions.

4. Ilepenumure u nepeseaute npemnoxeHus. [lloguepkHure npuyacTus
U onpeeauTe ux QyHKIMH.

a) While building the bridge the workers used new materials.

b) Speaking about his new invention the young engineers told no many
interesting things.

c) When heated to a certain temperature, this alloy increases in volume.

9



2 Kypc. 2 BapUaHT
1. IlepenummnTe U NMCbMEHHO NEepPeBeNTE TEKCT.

The locomotive engineer plays a dominant part in the manufacture and
maintenance of locomotives. And to keep the wheels of railway engineering
turning efficiently, the engineer must keep moving forward technically. That is
why a new school for diesel train drivers for British Railways has been opening in
Derby.

The new building comprises a two storey block for classroom instructions
and a single-storey demonstration bloc. The trainees attending the course are
railway workers who have already receiving some practical training on different
railways. The aim of the course is to give diesel drivers a basic knowledge of the
power units, braces and auxiliary equipment of diesel locomotives and railcars.
The theoretical instruction is sandwiched in with operational instruction on the
track.

2. I[OHOJIHHTC NNPEAJO0KCHUSA, UCII0JIb3YyA CJI0BA, JTaHHbLIC BHU3Y.
a) The diesel locomotive is practically an electric locomotive having its own

b) The most powerful engines usually develop 1500 ...

c) Both electric and diesel locomotives have many ... in comparison with
steam locomotives.

d) The air to be admitted into the cylinder must be in a ... form.

e) Because of the high temperature in the cylinder there are no ...

(advantages, power station, compressed, spark-plugs, revolutions per minute)

3. llepennmure U nepeBeauTe ciaeaywiue npennoxenus. [loguepkaure
NPpUYIACTHSA H OIIPEACTUTE UX (l)yHKIlI/IH.

a) The trains drawn by horses were short and light.

b) Laying down the track the builders use powerful machines.

c) When first proposed, the project for the Moscow Underground seemed
unrealistic.

d) The mechanic examining the new machine tool will help you.

4. Ilepenumure M nepeseaure mnpemioxenusi. IloxyepkHure B HHX
MOJAJbHBIC I'J1aroJjbl.

a) Railways have to introduce new types of freight cars to transport special
kinds of freight.

b) Our engineers should test this machinery in motion.

10



2 Kypc. 3 BapUaHT

1. IluchbMeHHO nepeBeuTe TEKCT.
Describing electric locomotive wheel arrangement.

The method of describing electric locomotive wheel arrangement is as
follows. Letters are used to show the number of driving axles in each bogie (“B”
for 2, “C” for 3, and so on.), and a small “0” after the letter shows that each axle in
a bogie has its own motor. Thus, a locomotive with two two-axle bogies, all axles
motor-driven, is a Bo-Bo, and one with two three-axle bogie is a Co-Co. Often the
little “0” is left out because today axles are nearly always fitted with their own
motors.

Some large locomotives have small guiding bogies as well as motor bogie
and these non-motored axles are shown by figures instead of letters. A 1-Co-Co-lI,
for example, is a locomotive with a single-axle guiding truck at each end, outside
the two three-axle motor bogies.

When the motor bogie symbols are separated by a plus sign, it means that
the coupling hooks and buffers are mounted on the bogie ends, the bogie being
interconnected so that the tractive effort (“pulling power”) is transmitted through
their frames to the train.

Mount- yctanaBIuBaTh

Axle-oce, mumuHAp
Bogie-renexka

Couple- cuermsats, hook- xprogok

2. OTBeTbTE NMCHLMEHHO HA BONPOCHI M0 TEKCTY.

a) What is the method of describing locomotive wheel arrangement?

b) What does it mean when the motor bogie symbols are separated by a plus
sign?

c) What does a small “0” show?

3. 3anuummure mpeasIOKeHHs, NepeBeAuTe MX, o0pamiasi BHMMAHUE HA
npuyacTue.

a) The trains drawn by horses were short and light.

b) Laying down the tracks the builders use powerful machines.

c) Almost all passenger trains in Europe have coaches equipped for
passengers in wheelchairs.

4. Haiigute B TekcTe npeaiokenus B Passive Voice, moguyepkHuTe B HUX
rJaroJi-ckazyemoe.

11



2 Kypc. 4 BapUaHT
1. IluchbMeHHO nepeBeuTe TEKCT.
Chief attractions of electric traction.

Where once there were thick coal smoke blackened cars, stations and
passengers, now high-speed electric trains are operating. The chief advantages of
electrification are two in number. One is the great rapidity of acceleration from a
dead stop. It is this, rather than higher maximum speeds, that has accelerated the
introduction of electric working over suburban routes. The power of the electric
locomotive at lower speeds is very great; further than this, motors can be
distributed throughout the train-this is known as “the multiple-unit” system of
working- all under the control of one motorman. The power thus available makes
possible very rapid starts from each of the frequent stops of a suburban route,
making, in this way, substantial cuts in the overall time of suburban journeys, so
that the improvement of the service from the passenger’s point of view is likely to
attract traffic to the route.

Besides, the higher average speed makes it possible to crowd trains more
closely, increasing the railway carrying capacity, and this may do away with the
necessity of track doubling in order to accommodate an increasing traffic.

Route-mapmipyt

2. OTBeThbTE NUCHLMEHHO HA BOIIPOCHI IO TEKCTY.
a) What are the chief advantages of electrification?
b) What increases the railway carrying capacity?

3. 3anumuTe NpeNI0KEeHUsl, NMepeBeauTe HMX, 00paliasi BHMMAaHHE HA
npuYacTue.

a) When first proposed, the project for the Moscow under ground seemed
unrealistic.

b) The mechanic examining the new machine tool will help you.

c) On lines equipped with AC overhead wires special precautions (mepsr) are
taken to reduce interference in communication cables.

4. BoimummnTe M3 TeKCTAa NpeaioKeHHsl (WJIM YacTh NPeNJIOKeHHs) B
Present Simple, moguepkHUTE B HUX IJIaroj-cka3yemoe.

12



3 kypc. 1 BapuaHt
1. ITepenuunuTe U MMCHbMEHHO MePeBeINTE TEKCT.

Diesel traction is normally employed today on non-electrified trunk lines and
on lines where traffic is not enough to justify electrification. In addition, it is the
diesel traction which is particularly suitable for switching services for the diesel
locomotive is not connected to the overhead wires and can easily and rapidly
perform its switching duties.

The question now being discussed is whether the diesel locomotive will be
able to compete with its electric counterpart in the future. To make the task easier,
let’s discuss the advantages and drawbacks of the two kinds of motive power.

The diesel; and electric locomotives have some common features. As well as
the electrics, diesels are always ready for service because the diesel engine can be
started within a minute or two in any weather and can be in operation for perhaps a
week without needing to go to a depot. As well as the electrdics, the diesels are
capable of developing a high tractive effort at low speeds arid, therefore, can start
and accelerate heavy trains. These features allow the diesel locos to be used for
heavy mainline service.

2. Haiigure AaHIIMHCKHE DHKBUBAJEHTbI K CJICAYIOIIAM CJOBAM H
CJIOBOCOUYCTAHUSAM.

a) to produce locomotives and cars —

b) a single-section locomotive

c) besides the diesel motive power-

d) to depend mainly on the track

3. IlepeBeauTe CJI0BOCOYETAHMSI HA AHIVIMUCKUH SI3BIK.
a) JIOKOMOTHUB BBICOKOH MOIITHOCTH —

b) oTBeuaTh COBpEMEHHBIM TPEOOBAHMSIM-

C) NBYXCEKIIMOHHBIN JOKOMOTHB -

4. Bbi0epuTe BepHble BADHAHTHI IIEPeBO/ia CJIOB.

a) nerxkyias cuia (horse power, motive power, prime power)
b) Buemrnee cropanue (external combustion, internal combustion)

13



3 Kypc. 2 BapuaHT
1. ITepenumunTe U MMCHbMEHHO MePeBeINTE TEKCT.

New trains go into service.

Via Rail Canada introduced several LRC (Light, Rapid< Comfortable) trains
into service between Montreal and Toronto in 1981. The railways ordered some
more LRC locomotives and coaches. At present there are two trains a day in each
direction between these two cities replacing a morning Rapid Train and the
evening Turbo Train. The trains were to have a maximum speed of 200 km\h but
because of track limitations they will not run faster than about 150 km\h.

The most significant engineering innovation in design of a LRC train set is a
power banking system, which enables the train without discomfort to passengers.
The Canadian system can tilt the coach by more than 8 degrees. Each bogie is
equipped with the banking mechanism and operates independently. As the coach
enters a curve, an accelerometer senses the resulting lateral force and sends this
information to a small electric device. The device, in turn, sends signals to
hydraulic cylinders on each bogie instructing them to tilt the locomotive and coach
bogies.

2. Haiigure AaHIIIMMCKHE DJKBHUBAJEHTbI K CJICAYKOIIUM CJIOBAM H
CJIOBOCOUYCTAHUSAM.

a) work on gasoline

b) burn costly fuel

C) to put engine into motion

d) a single section locomotive

3. IlepeBeauTe CJI0BOCOYETAHMSI HA AHIVIMUCKUN SI3BIK.
d) MaHEBPOBBIN JJOKOMOTHUB

b) 3amyckaTh 1BUTATENb

C) IOKOMOTHB BBICOKOW MOIIIHOCTH

4. Bbi0epuTe BepHble BADHAHTHI IIEPeBO/ia CJIOB.

a) BHyTpHu asurarens (outside an engine; inside an engine)
b) nusenarnoe TomauBo (gasoline; oil fuel)

14



4 xypc. 1 Bapuant
1. IlepennunTe U MepeBeIUTE TEKCT

Experimental Bridge

A Dbridge is a structure built to cross natural or artificial obstacles such as a
river, a street, a railway and so on. First bridges had to be built out of the material
close at hand (moapyunsrii matepuan). In tropical jungles, suspension bridges
were made of long bamboo poles. In the places where there were many forests, it
was wood.

Simple suspension bridges were made by means of ropes and are still used in
some countries. Two parallel ropes were suspended from rocks or trees on each
bank of the river with a platform of woven mats laid across them. When the
Spaniards reached South America, they found that the Incas of Peru used
suspension bridges made of 6 strong cables, four of which supported a platform
and two cables served as handrails (mopyunmu).

In Middle Ages, people constructed wooden beam type bridges. They were
usually built on stone piers or wooden piles. Bridges of this type are used in Japan
and India.

With the beginning of railway construction in the 19" century, there was a
great demand for bridges and the railway companies had capital for building them.
The first railway bridges were built of stone or brick. Later there appeared concrete
and metal bridges. The first iron bridge crossed the river Severn in Great Britain.

Nowadays some people are experimenting with different unusual materials.
One of them is paper. Nobody consider paper to be a very strong material.
However, paper-makers have another opinion. In order to prove it they built a
paper bridge across a narrow canyon in Nevada. The bridge had a span of 32 ft
(bynTt). The designers calculated that it could safety span 80 ft. It took engineers
only two months to design the bridge, to test and construct it.

For testing, the engineers chose a truck, which weighed 12000 Ib (¢pyuT). This
truck drove quite safety across the paper bridge. The engineers are sure that the
bridge can take six times the truckload of 12000 Ib.

The bridge itself weighed 9000 Ib. Therefore, the structure was light enough
to be laid into place by helicopter.

2. Ilepenumure U mepeBeAuTe NMPEAJIOKeHHUs, o0pamias BHMMAaHHE Ha
ynorpeodaenune BpeMén rpynmnbl Continuous (Present, Past, Future) m rpynmsi
Perfect (Present, Past, Future)s aeiicTBUTEILHOM H CTPaAaTEIbLHOM 3aJ10Tax.
Beinuuiure ckasyeMmble M YKAKUTE HX BUJIOBPeMeHHbIe (POPMBI.

a) Hurry up! I am afraid by the time we get to the station the train will have
already left.

b) The new American turbo-train has covered a 230-mile distance in 3 hours
15 minutes with four stops between Boston and New York.
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c) By the time the train reached its destination Paul had made friends with
many of his fellow travelers.

d) For many years, railway track has been laid and repaired by hard manual
labor. Now this work is being done by means of up-to-date track machines and
mechanisms.

3. Ilepenumure M mnepeBeanTe TNPEAJI0KEeHUSI, BbHIOPAB NPABUJIbHYIO
dopmy ckaszyemoro (Active or Passive)

a) After the reconstruction of this line track maintenance cost (will reduce;
will be reduced) considerably.

b) A taxi (was called, called) 15 minutes ago; so we (are expecting; are being
expected) it any moment.

c) Bill (kept; was kept) his word and arrived exactly at the time he (had
promised; had been promised).

d) Great attention (pays; is paid) to ecological problems all over the world.

e) Be careful! The train (is approaching; is being approached) the station.

4. Tlepenumure U mNepeBeAuTe NPeENJIOKeHHs, o0palias BHUMAaHHE Ha
yHOTpeﬁﬂeHI/Ie MOJAJBbHBIX IJ1aroJos. HOIl‘lepKHI/ITe MOJAJBbHbBIC I'J1AaroJjbl B
AHIVIMUCKUX NPeIJI0KEHUAX U B IlepeBo/e

a) Drivers of express and fast trains must have a rest after 3 hours of week.

b) In New York a passenger may go by subway all day long for the same fare
if he only changes trains but do not go out of the station.

c) In Metro, when the passengers get on the escalator, they should stand on
the right so that people, who hurry, can run by on the left.

d) The new automated control system will eliminate all types of accidents,
which can be caused by the driver’s error.

e) You need not hurry up; you may take a later suburban train.

5. llepenumure U nepeBeuTe MNpPeEAT0KEHHs, o0pamasi BHUMaHUe HA
ynorpebsenne Participle | B ¢yHkuusax ompenejieHusi U 00CTOSTEIbCTBA.
IMoguepkHuTe npuyacTus | B aHIIMiicCKUX NpeAJI0KEeHUX U B NiepeBo/Ie.

a) Having packed our baggage/ we hired a taxi and hurried to the airport.

b) Electric diagrams showing the routes of trains are installed in the London
Underground.

¢) The high-speed train running between Hiroshima and Kokura was entered
in the Guinness Book of Records for the highest average of speed — 261,8 kmlh.

d) Carriage wheels, when passing over rail joints, produce the familiar sound
“click-etty-click’.

e) While unloading the car we found a few broken boxes.
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6. IlepenummuTte U mepeBeAuTe MNpPeIJIOKEeHNs, O0pamiass BHUMaHUe Ha
ynorpeoaenne Participle Il B ¢pyHKIusIX onmpenejeHHsi ¥ 00CTOSITEILCTBA.
IHogyepknurte npuyactusi || B aHrIMiickuX nmpeaJioskeHUsIX U B MiepeBo/IeE.

a) The first steam engine invented by James Watt was installed in a machine
at a large mine to pump out the water.

b) The mechanic said that he had replaced the broken part of the engine.

¢) When heated by sun, the rails become longer.

d) This engine radically differs in both construction and operation from the
engine designed five years ago.

e) The Disneyland train called the “Excursion” was built especially to carry
visitors through the Grand Canyon Diorama.

7. llepenumuTe npeasokeHus. 3agaire o01Me U CleUAIbHbIE BOMPOCHI
K NOAYEPKHYTBIM CJI0BaM.

a) The load weighs two hundred kilograms.

b) The windows in this car are made of unbreakable glass.

c) Each passenger must fasten the belts when the train takes off or lands.

4 xypc. 2 BapUaHT
1. IlepenuiunTe U NepeBeIUTE TEKCT

From the history of the London Underground

The underground railways as a kind of city transport appeared in the second
half of the 19" century. The first underground system was proposed by Charles
Pearson in 1843. Twenty years later the first line of the London Underground was
opened for traffic. Its length was almost four miles. On that first historic day,
30.000 Londoners made the first underground travel in the world.

In the early days the trains were driven by steam locomotives, which burnt
coal, filling the tunnels with smoke. It is said that the train staff and porters asked
for a permission to grow beards and moustaches — as an early form of smog mask.
The tunnels of the first underground were as small as possible in order to reduce
the construction costs. The coaches themselves were small and narrow.

According to Pearson’s project all lines were laid down close to the ground
surface. The deep tunneling came later, in 1890. Constructing the tunnel through
miles of clay, sand and gravel is no easy task and it was James Henry who
developed the method which made the construction of most London tunnels
possible. One of the longest continuous tunnels in the world is the 17 1\2 — mile
tunnel on the Northern line. The first escalator was also installed in the London
Underground in 1911,
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During the World War 11 the London Underground served as a shelter for
thousands of Londoners. Many British Museum treasures spent the war in the
tunnels of the underground. The railways were prepared for any emergency that
might occur. They had duplicate control systems, repair groups, duplicate power
supply and so on. To minimize the danger of flooding the underground near the
Thames, isolating doors were built in the tunnels. All the trains were equipped with
special reduced lighting for using on open sections of track.

Nowadays the London Underground is the most popular means of city
transport. Its length is about 300 km and it has 273 stations.

2. HepelmumTe H NEPEBEAUTE IPCAJTOKCHUSA, oﬁpamaﬂ BHUMAaHHUuEC Ha
ynorpedsenne Bpemén rpynnbl Indefinite (Present, Past, Future) B
HeﬁCTBHTeﬂLHOM 3aJ101¢. Beinuiure CKazyeMbI€ M YKaXKHUTEC HX
BHIOBpPeMeHHbIe GOpMBI.

1. This train will proceed to its destination without any stops.

2. The price of the ticket in the London Underground depends on the distance
you travel.

3. The invention of a steam engine started the first industrial revolution.

4. The top speed of the first steam locomotive was thirteen miles per hour.

5. Students of technical institutes have practical training at various enterprises
and it gives them an opportunity not only to watch production processes but also to
take part in them.

3. HepenmuuTe H NepeBeaAuTEe IPEAJI0KCHUA, oﬁpamaﬂ BHHUMAaHHUEC Ha
ynorpedsenne Bpemén rpymnmbl Indefinite (Present, Past, Future) B
CrpagaTeJbHOM 3aJiore. Bouinumurte CKa3yeMbI€ | YKaKUTE 70,4
BH/I0BPEeMeHHbIe (DOPMBI.

1. Since Paris is located in the centre of the country, the passengers who spent
a day in the capital can reach any town the same evening.

2. Our flight will be delayed because of a strike of air-traffic controllers.

3. The flight turnover was reduced because of a considerable increase of
transportation cost.

4. New plastic and synthetic materials are widely used for the interior and
exterior finishes of carriages.

5. The demand for tickets was so great that they were sold out as soon as the
booking office was opened.

4. HepennmnTe U MEPEBECIANTE IPCAJIO0KCHUNA, IMOCTaAaBUMB IJIarojl B
HYKHYI0 hopmy.

1. This railroad (to design — Present Indefinite Passive) to handle only freight
trains.

2. We (to leave — Past Indefinite Active) our car in the parking lot near the
terminal.

3. The shuttle-train (to cover — Present Indefinite Active) the distance from
London
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to Paris in three hours forty minutes.

4. Steel rails (to use — Past Indefinite Passive) in the USA for the first time in
1863.

5. You (to catch — Future Indefinite Active) the train, if you (to hurry —
Present Indefinite Active) up.

5. Ilepenumuure M mepeBeAuTe NPeEAJIOKeHHsI, o0paliasi BHUMAHHE HA
yHOTpeﬁ.ﬂeHI/Ie npwiaratTeJbHbIX B CpaBHl/ITeJILHOﬁ | HpeBOCXOIlHOﬁ
CTCIICHHAX. HOI[‘IepKHI/ITe npuwiaraTejJbHbIC B AHTJIMUCKHUX NMPEII0OKCHUAX M
YKaAKUTE CTCIICHb CPABHCHMUSL.

a) In Australia the traffic is heavier during the winter months when many
tourists travel in passenger trains.

b) It is much more convenient to travel by express train because it does not
stop at small stations and it takes you less time to get to your destination.

c) The world’s longest road tunnel links France and Italy beneath Europe’s
highest peak Mont Blanc.

d) Statistically it is safer to travel by air than to drive a car

e) The maximum train speed on the West Coast railway line (Great Britain) is
77 miles per hour but there are many sections where the speed is much lower
because of tight curves and steep gradients.

6. [lepenumuTe npeaio:xkeHusi. 3aaaiiTe o01IMe U CIeNNAJTbHbIE BONPOCHI
K NOAYECPKHYTHIM CJIOBaM.

a) The incandescent lamp was invented by Edison.

b) Railway track will be strengthened on this section of the mainline because
it is planned to increase the volume of freight traffic here.

c) Road accidents are more frequent in rainy weather.

d) In some countries the locomotive pulls the train in one direction and pushes
in the other.

e) Steel sleepers first appeared in Europe in 1868 mainly because of the
shortage of durable wood in some countries.

f) In our Metro trains run every 8 minutes.

g) Civil engineering means the construction of roads, railways, bridges,
tunnels, canals, etc.

19



CIHCOK HCITOJIb30BAaHHBIX HCTOYHHKOB

1. Makap, JI.B. AHroumickuii s3bIK I CTYJCHTOB TPAHCIOPTHBIX
CHCIMAILHOCTEH: JKEJIC3HOMOPOXKHBIA TpaHcnopT (A2-Bl): yueOHuk s
cpennero mpodeccuoHanbHOro o6pazoanus / JI. B. Makap, H. B. MarBeeBa. —

Mocksa : WznmarensctBo [Opaiir, 2023. — 240c.— (IIpodeccronanpHoe
obOpazoBanue). — ISBN 978-5-534-09527-2. — TekcT : DSIEKTpOHHBIA //
OO6pa3zoBartenbHas matdopma Opaiit [caliT]. — URL:

https://urait.ru/bcode/531809
2. Hemsoposa, I'. JI. Axrmuiickuii s3bik. ['pamMmartuka : ydeOHOEe mocoOue s

CpeIHETO po(heCCHOHATTLHOTO oOpa3oBaHus / I'. 1. HeB3opoga,
I'. . Hukutymkuna. — 2-e wu3A., uchnp. U jom. — MockBa : M3gaTenbcTBo
FOpaiit, 2023. — 213 c. — (IIpodeccrnonanmproe oOpazoanue). — ISBN 978-5-
534-09886-0. — Tekct : snexTponHbIi // ObpazoBarenbHas miargopma HOpait

[catiT]. — URL.: https://urait.ru/bcode/513406
3. Caspikun, ['. B. OOmmii Kypc >eJe3HbIX JJOopor : ydyeOHoe mocobue st

cpeadero npodeccuoHanbHoro obpaszoanus/ I'. B. Ca3plkuH. — Mockaa :
NznarensctBO FOpaiit, 2023. — 231 c. — (IIpodeccuonanbroe oOpazoBanue). —
ISBN 978-5-534-15002-5. — Tekct : onektponHbli // OOpa3zoBarenbHas

wiatgopma FOpaiit [caiir]. — URL: https://urait.ru/bcode/520365

20


https://urait.ru/bcode/531809
https://urait.ru/bcode/513406
https://urait.ru/bcode/520365

